gmmple froblems  Worked Out

Finding an Empirical Formula from Experimental Data

Find # of g of each element
Convert each g to mol

Divide each “# of mol” by the smallest “# of mol.”
Use ratio to find formula
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A compound is 45.5% yttrium and 54.5% chlorine.
Find its emplrlcal formula.
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A1l7. 40% sample of a technetium/oxygen compound
contains 11.07 g of Tc. Find the empirical formula.
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A compound is found to contain the following % by mass: 69.58% Ba, 6.090% C, 24.32% O. What is the
simplest (i.e. empirical) formula?
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Find its empirical formula
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A compound is composed of 7.20 g carbon, 1.20 g hydrogen, and 9.60 g oxygen. Find the empirical
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lﬁ%];;p-ound consists of/zéflp% Na, 4O.SL/% S,3nd 30.4 % O. Determine the simplest formula.
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To find molecular formula
1. Find empirical formula
2. Find molar mass of empirical formula.
3. Find n = mm molecular
mm empirical
4. Multiply all parts of empirical formula by n

Combustion analysis gives the following: 26.7% C, 2.2% hydrogen, 71.1% oxygen. If the molecular mass
of the compound is 90 g/mo)}, determine its molecular formula
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A compound’s empirical fofula is CH, and it weighs 104 g/mol. Give the molecular formula.
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A substance is decomposed and found to consist of 53.2% C, 11.2% H, and 35.6% O by mass. Calculate
the molecular formula of the unknown if its molar mass is 90 g/mol.
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b Ikég%c?n/ljnydrogen con{%u%z is 7.7% H and has a molar mass of 78 g. Find its molecular formula.
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A cqm;(gu% has 26.33 g nitrogen, 60.20 g oxygen, and molar mass 92 g. Find molecular formula
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